FE

e

97 HEhniE = EE
97 SIEN E B
97 MUK ZEET

97 EHEEH T ZEEE R
97 1ET5 ZEET

08 FEhNzE = EE
08 T EEER
08 MY7KZTEERFL

98 HHEBH T 2 EEE
08 15 2 EEEfL

99 FENNEE = TEERA
09 H P EEEER
99 MY7KZTEERFL

99 EHEBH T 2 EEE
99 1& 5 ZIEEFL

100 HEANZZEZEBEEFL
100 HFEH ZEEfT
100 JMY/KEZEEEFL

100 SHEH T ZEEE R
100 1& 5 ZEEEFE

101 HEfNZE =8 Rt
101 HFESZEBEFL
101 YK EEEEFL

101 EHEEATHEEEEFL
101 &S ZEEERE

102 HENNZE =8
102 HFES 2B
102 DI/KEZEEERE

102 SHEBH T 2V EE R
102 HE &5 ZEEERE

103 FENEEEZEE T
103 HPE EZEEfT
103 WI/KEZEEERE

103 BREIA T AR
103 & ZEEERE

104 FENEEEEE T
104 HPE ZEEfT
104 WI/KEZEEERE

104 GHEHH T 28 EE R
104 &5 Z/EEERE

105 FEInEE =& e T
105 HFEH ZEEfT
105 MY/KEZEEEFL

105 GHEHH T 28 EE A
105 &S Z/EEERE

A
2,171,358
1,857,400

750,520
6,505,000
1,518,880
1,197,354
1,833,000

713,204
6,516,000
1,392,840
2,043,537
2,156,540

745,560
6,982,000
1,303,880
1,908,601
2,290,960

945,000
7,799,000
1,267,560
1,830,140
2,352,520

844,865
8,383,000
1,232,570
1,597,948
2,367,608

822,644
8,808,000
1,088,445
1,723,438
2,374,926

764,125
9,031,240

892,422
1,659,209
2,205,120

689,131
9,270,322

772,267
1,546,910
2,106,760

705,332
9,591,352

667,372



106 HENNZEZTEERFE
106 FHFES: =&
106 7K ZEEEFL

106 SHEEH T EZEEERL
106 15 Z/EEF

107 HENnZE =&
107 HFES: =8
107 MK ZEEEFE

107 SHEBH T ZEEER
107 1E S ZEEER

108 HENNZZEZIEBEEFL
108 HFEH =8
108 /K ZEEEF

108 HEEH T e
109 HefNZZE 2= EBEEFL
109 FHFER 2 /&R
109 /K ZEEEF

109 SHEH T 2 EEERE
110 HEfN7E Z/EEERL
110 HfEs =282
110 MK EEEEFL

110 EHEEATHEEEEFL
111 HENNE E SRR
111 HfEgr =282
111 MK EEEEFL

111 GBI EZEEER
112 HENE E S 2R
112 HlEgr =282
112 DI/KEEEERE

112 SHAERA T 2= EA A

1,301,000
1,952,000
572,000
8,722,000
562,000
1,270,000
1,876,000
473,000
9,101,000
294,000
1,261,000
1,820,000
393,000
9,568,000
1,213,000
1,874,000
389,000
9,987,000
1,000,000
1,701,000
314,000
10,172,000
1,099,000
1,764,000
326,000
10,544,000
1,246,000
1,762,000
337,000
11,403,000



